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ZousR s 1) TP, DLECHE, Toen, DTNNE.

ii) xzen - A, B, C &3, D ¢ Qo JIFRIS), QN0o,pened
03 ORI

iii) QR - A 0 BB, 0BT, O YOBE0Z 10 ©0ENRD, exen - B oD

TF, womE, 2 ©08mo8 20 woINE, Qgen - C oD I3,
womg, 5 03n¢od 40 ©o3ned Qen - D oé) D Qgen 10

YOBNL D, Qpncd, &3, womd, 5 wosnsgod 10
YOINYTZ 3.

iv) engQTHRE, ©OTTE LZNTRY, w08, AWTTLANTTY, LWI0WR.

TN - A
Reedd : i) Qo 10 Z MY, Y03,0R.
i) B J[FRIR womd TBTE, OFP@o WOB WB TS, Y08 TRYTY,

WBORIeB. T FFNR WO BOBLTZ 3. 10 x 1 =10

1. 2eRBE T 2390308y, Wemreaes ( Desilverisation of lead ) Gax=Ey, SE0R.
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Code No. 34-NS 2

2. R wRd (NaCl) @ Q3 eR®  ( Electrolysis ) o3nment  AReR030
BO3VNRYN0Z BHTED H ' 90SHINEY QRWER SN 508D 7

3. SRm OXRAT B[R W),  WIBZJHX  A0C3RITIONT, 3, BORAS
Om,0z®  ( Ligand ) 0003 2,003 F08Ls O3l NTIRTH SREG.

4. TRR,e 38, ( Threshold energy ) 0TY 39,879,R4.
5. 10~2? M NaOH 33603 pH &3 292.

6. WO LLRFPL TRRHRTY, TWRE), FONITN B0 SR WBTET S BT
TOFBTRET ?

7. 00 TyHEE ¥T° ( Primary amine ) 853 @pé&rodnn &o,9e30cs ( Alkylation
) TRRTIN LT N F,T BATES 7

8. PYoes® 30300 ToRRT, ANFTLRTY, WI0WD.
9. ‘BBRNeNot’sS ST AT, WB0W0.

10. “prieas 038e300’ " Q0mdesd 7

Ngen - B
ZeesS: 1) CIRRYHETR B, BBy, U0 O3

i) T3P0 TB,C0R RTE YOBNTRY, BROTIZT.
10 x 2 =20

11. 2R0T° SFT 0T 3e0RedRy, ((Cr ) YOF:YOATIN SO0 SRHEBITY

VTTREEITOIN YVTO3RENTIT,B. RE) ONTTRI® 30000 FoTLTRR, S9A.
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3 Code No. 34-NS
U500 oy IEnTeodn J[ue nogsee® ot §od wOARI D 7

RE0EBTEDTTY, WIAWD.

TPETIN0I0 FVREFDFERE) 8 £9T EAN 0Ty, &3, Fed.

S-TOTIED  BZ,CON BHT,TRIOTNG@IN TS AMe, LOFES ( Bonding ) 08y,

$8woEs  (Antibonding ) @red 38,0030M¢ 23823y, La3CW0.

WOTD [P [T FONONE, W FeIBE A0 ( Concentration )

&,roeariRotEen &8 03003 HWemzy) Q,MOeTte% 8,03 0> SRe0R.

OBRRR (NH, ) omady Sa'% 59,0 @@, WIRE’s 59,0000

9% BORSAIMZS ? QRO

50 3083 BT 08ee33E, ( Unit cell of BCC ) 88ns 203,007y, &8, =ne.

STBE TS0 B, BTTBE TREANY T AT NUED B, TRy, WD,

3 CORL-BHFETTRTY, BIHRPONTT [y TN e B[OWSFAIND 7 REBTENTY

2BCWD.

A2,03-330¢0° FO3RITLB ( Strainless ) SO0 ATy e3¢ ?

‘TOPTRTT) L3RLRWUTE O30 TRVE THT BTYTTY, TR 3030RQ0 ?

O-BRSR LATT BRTSTET TLTe RRT|T, WI0W0.
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R - C

I 8 3eNIYNEE), GRPYDTTL 0@ JB,AER 0N 2x5=10

23. a) T,o@ S030030NE)., YUTOIRENTIE NG BILOTION VOTTIT LIZIRY,
WO0WD. ©TT Wed 3T [OONNLE, WIME  TIAIODNAT  FORNPTY

2B0WD. 3

b) @HRFWAF{OT AT, (0) R0ELHFT  TLIVONTY,  WOCW0.  ©TTE),
Be0RL03 Seewm T|TEIER 03 AT R0BT300RY, ( Hybridisation )

BROQT ? 2

24. a) BRIYET VODOT TPEIIN0I0 TBBRTOCITY, TN YOTYLRTT ? 3
b)  SEYT® Mo, F° AT 08T HgeO SRIHT BHYLN To0r=TY, XdA. 2

25. a) SR WI/E OFRATE), AT ASTYT® DT, FeSTy, WIOWD. e o
¥T0T08e03> ( Paramagnetic ) e5oN3 Q0T QES0A. 3

b)  ©0352e80 FEIVONZONTY, YVTIRTF Feo8 L0 2

II. 83 3PNIPYNTE), CIRIYTTTH RoRD BF RO 03,08 : 3x5=15
26. a) ReO®m8 T Jewm ( Inductive effect ) =B, WeRRED0T  FJLTees
( Mesomeric effect ) 1$ 23053, 203 3,89, ANSTY, B0, 2

b) BT RSROON 239,080 FEnond ( Geometrical isomerism )

O, DO 3
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27. a) WBOREAT FL3eTTLOT O3B0y, WeSOA. 3
b) i) SR @B, i) BpLOTTR TETY FRJNTRY 23D, 2
28. a) B FIPNTYNLROON LTS TeR [SEADS,T3 QOTH W3R : 3
) 2B0eR0T® A0S T
i) oowre [EdES ey,
b) S 13T 3ER308TRy YTITTB SROT Q0. 2
29. a) BROINOIT TSy ARIH[I,  WIKWD. 8 INIPnesodn e
TR RIBERI T 7 3
) TOWF® NOEEEEy, @08, YON
i) KOH @380
b) OTERET FZTOROTIED 7 2WOWD YVTIHTH ZRG. 2
III. 83 BPNIZYNTE), CSRITTTH BoRsy F RO 03,03 3x5=15
30. a) ©&EFAONAT TLETTEATTY, LTBOWD. YTTE) TS FOFBNE WTERTY E9A.
PR BEL 27°C 2T 47°C 1R Q0RO oo gosweden
AODT0TR) 4 Tedy, TH,NI T, 8 OO FFERT» 38, ( Activation
energy ) C3OF), BOREL0D. 4
b) 37° 303 ( Brownian movement ) &ert e00e5ond3 s ? 1
31. a) e BWRT DR pH ©FY  S0ERO1DLS  YOBOIRNRT
S0TTTRTTS FWETTEIRRY, QA 4
b) oIpees (BSRDAFT) 0TI ? 1
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32. a) 10 ee30® wyRNerE), 40 .m0 NaOH &, TONATT,  T9m03
pH o&0,m03,3 ? 2

b)  C3NA_ 3 B3 -FBB9,Y, 0T ? 1

c) DB AWDWON, ASBREET DF[NS FeS  Tegors WS WoBMERY,
TR 2

33. a 33, Wodpex® TRt €O w8 B 200 mm/Hg. o wog 3o, 2 myo
VTR DD, BNTI,Q,L, TeSmDy, 78 M0 WodPeTRE), FTNATN &
Tomn B WS ® 195 mm/Hg S s, & momt 9 3R8RIY
BOTEELOAD. 3

b) 9T 0D B, T9E Bk 3OONY &G, AT AT &, T, RITY
20300. 2

34. a) ORFACNIT QAT TT-UTPLREOD  DOSRIIVCL FRT> RRINTTY,
TR 3

b) 62 kJ/BReS® BZ@PdT ®NB, 3, A00X  WOTD THAIO0NAT 30300
AR & R 0008, 300 K ¢0F 3038, 80T22.8020.

Error!molError!) 2
e -D
D,
IV. 83 3$NIYNSE). 0330YToB0R 20T @ﬁqﬁ 8,08 : 1x10 =10

35. a) 3d 3Bedod oBNY WSTYIT QATI@TY,  WOOWD.  erdon 83
BLNATRINGTY, TOA.

) Cut @3, Scd* eoInSne w6 BRImntss .
i) Zn?* &R &3 52080 3

b)  3R,TR0RS §0503 JOINI0TTHRY, QRO 3

Find information about best Medical, Engineering, and Management colleges


http://www.howtoexam.com

http://www.howtoexam.com
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c) i) DOERLLONTY,  WTRRR. WO WAL  FATLTmR T

QOEIREHONE, BT WRSITHB O 7

i) RHR,00 A2, SOTSERS ? BT §53 FERH = = 053
TNT BOSRIT RET,0We R8I, Y, ? 4

36. a) TeNOTW QO VRBRRT NIRRT BeR WAIONY WBET, R
QONTEB [PRTRO 7 AT[OA. 3

b) 83 IBNInLLoLN Eﬁfaﬁ.@@ﬂ%ﬂ@?ﬁ)é@fe 533 &Y e ISEAI T ?
WIS OIoGeplog
i) ©&¥e03w

RNeBTEATTY, BRGR B, 83 F0N0NE) TRIJRIAWE A0 YIF N
BRTZy, 29800, 3

C) YLLAEACRV0 [, WENLACR0  ATW,TNY (S8R, NRY) SRP
BSNE 8eeson — 1:66 V &N 203), — 2:37 V SN R, anynesy
QOBO3RCAR  TLRT BREBTTY, ACRLR. & BRBT  Ty@eds @0,
38,0303, S8, T8

[ F =96,500 coulomb ] 4
D,
V. & 3BNTIYNSE), 0SRYTITTR Q0 @%ﬁ@ﬁ 08,08 : 2x5 =10

37. a) AVAGTRAT p-WRLHEM QRBISTETY  IJRRMZSE), — xen

303300RIQD ? 3
b) Eiﬁrdri@émq BOTIROVO T[ITO mmsé aaegosmq DA, 2
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38. T, VALIUTTT SN 0N WO DLTWRONTY, 3RORT FT03eeNeY) LWomd T

T3 3,03003RNTHZ,T ROTD RS A. 5

39. BEred POAT WX RCAIN0 FSEEF  T0S0mSy  YORSREN  FRETA00
TOTRPONNEETT  TOBE) TS FPETA0NV0  TOTIONMZCETR  TOINEITRY,
BOTOLO30EE FO3RNTE), 83 FLATINTSY, 893 ¢

) & §0o30 ToR0RAT FCFTLOTEY, LT0WD.

i)  BRETDACI0 BOTHWRONRETS AR T3, T0d0NTR, &9A.

iil)  Fodeencd), Y@ eeNAT FRLdE O3 ?

iv)  §O30D w03BY, e LT WETITBOD ? 2+1+1+1
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Instructions :

i)

ii)

iv)

Note :

9 Code No. 34-NS

( English Version )

The question paper has four Parts.
Parts A, B, C and D are common to all the candidates.

Part A carries 10 marks, Each question carries one mark.
Part B carries 20 marks. Each question carries two marks.

Part C carries 40 marks. Each question carries five marks.
In Part D — D, carries 10 marks and D, carries

10 marks. Each question of D, carries five marks.

Write balanced chemical equations and draw diagrams

wherever necessary.

PART - A
i) Answer all the 10 questions.

i) Questions have to be answered in one word or in one

sentence each. Each question carries one mark.

10x 1 =10

1. Name the process used for desilverisation of lead.

2. During electrolysis of brine H* ions get discharged in preference to

sodium ions. Give the reason.

3. Give an example of a complex where a ligand satisfies both the primary

and secondary valencies of the metal ion.

4. Define Threshold energy.

5. What is the pH of 102 M NaOH ?
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Code No. 34-NS 10
6. What happens to the vapour pressure of a liquid when a non-volatile

solute is dissolved in it ?

7. Name the final product formed when a primary amine is subjected to

alkylation.
8. Write the general equation for Wurtz reaction.
9. Give the structural formula of pyrogallol.

10. What is meant by denaturation of a protein ?

PART - B
Note : i) Answer any ten questions.

ii) Each question carries two marks. 10 x 2 = 20

11. With the help of Ellingham diagram explain why Aluminium is used as a

reducing agent in the manufacture of chromium from chromic oxide.

12. How does conc. sulphuric acid react with oxalic acid crystals ? Give

equation.
13. Calculate EAN of iron in potassium ferrocyanide.

14. Sketch the shape of sigma bonding and antibonding molecular orbitals

when s-atomic orbitals overlap.

15. Show that the rate of a first order reaction doubles when the

concentration of the reactant is doubled.

16. Explain why NH ; molecule can be considered both as a Lewis base and a

Bro nsted base.
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17.

18.

19.

20.

21.

22.

11 Code No. 34-NS

Calculate the number of particles present in the unit cell of BCC.

Give any two differences between an ideal solution and a non-ideal

solution.

How do you convert chloroethane to ethanoic acid ? Give equations.

What is Sache-Mohr theory of strainless rings ?

How is a primary amine prepared by Hofmann's bromamide reaction ?

Write the Haworth's structure of a-maltose.

PART - C

Answer any two of the following questions : 2x5=10

23.

24.

25.

a)

b)

a)

b)

Draw a neat labelled diagram of blast furnace used in the
extraction of cast iron. Give the chemical reactions that take

place in the different zones of the furnace. 3

Write the structure of tetracarbonyl nickel (o) complex. Indicate

the type of hybridisation undergone by the central metal atom. 2

How is potassium dichromate manufactured from chromite

ore ? 3

How does electron gas theory explain the bright metallic lustre

of metals ? 2

Write the electronic configuration of oxygen molecule. Explain

why oxygen molecule is paramagnetic. 3
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Code No. 34-NS 12
b) Explain ionisation isomerism with an example. 2
II. Answer any three of the following questions : 3x5=15

26. a) Differentiate between inductive effect and mesomeric effect. 2

b) Explain geometrical isomerism with one example. 3
27. a) Explain the mechanism of nitration of benzene. 3
b) Give the structural formulae of (i) Lysine (ii) Proline. 2

28. a) How does phenol react with
i) bromine water
ii) dil. nitric acid ? 3

b) Explain S 1 mechanism with example. 2

29. a) Write the structural formula of tristearin. What happens when

tristearin is heated with

i) dil. sulphuric acid and steam

ii) KOH solution ? 3
b) What is a reducing sugar ? Give one example. 2
III. Answer any three of the following questions : 3x5=15

30. a) Write Arrhenius equation and explain the terms involved in it.
The specific reaction rate of a reaction increases by a factor 4 if
the temperature is changed from 27°C to 47°C. Find the

activation energy of the reaction. 4
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b)

31. a)

b)

32. a)

33. a)

34. a)

b)

13 Code No. 34-NS
How is Brownian movement caused ? 1
Derive Henderson's equation for the pH of an acid buffer. 4
What is dialysis ? 1

40 mg of NaOH is dissolved in 10 litre of the solution. What is

the pH of the solution ? 2

Define conjugate acid-base pair. 1

What are the factors, affecting the single electrode potentials ? 2

The vapour pressure of pure benzene at a certain temperature
is 200 mm/Hg. At the same temperature, the vapour pressure
of a solution containing 2 gm of a non-volatile, non-electrolytic
solid in 78 gm of benzene is 195 mm/Hg. What is the molecular

mass of the solute ? 3

Give two differences between lyophilic and lyophobic sols. 2

Give any three assumptions of Arrhenius theory of electrolytic

dissociation. 3

The standard free energy change for a reaction is 62 kJ/mole.

Calculate the equilibrium constant at 300 K.
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[R=8314JK ! mol-! ] 2
PART - D
D,
IV. Answer any one of the following : 1 x10=10

35. a) Write the electronic configuration of 3d series of elements.

Hence explain

i) WhyCu* ionand Sc3* ion are colourless.

ii) Zn?2* ions are diamagnetic. 3
b) Explain the mechanism of Cannizzaro's reaction. 3

c) i) Define Entropy. What happens to the entropy when a gas

undergoes expansion ?

i) What is meant by co-ordination number ? What is the

co-ordination number of the ion if radius ratio of the crystal
+

L 50532 4

r

36. a) How is a mixture of noble gases separated by Dewar's charcoal

adsorption method ? 3
b) How does a monocarboxylic acid react with

i) alcohols

i) ammonia ?

Give equations and name the organic products formed in these

reactions. 3

c) The SRP values of Aluminium and Magnesium electrodes are
- 1:66 V and - 2:37 V respectively. Represent the galvanic cell
constructed using these electrodes. Calculate the free energy

change for the cell reaction.
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15 Code No. 34-NS
[ faraday ( F ) = 96,500 coulomb ] 4
D,
V. Answer any two of the following : 2x5=10

37. a) How is p-bromo acetanilide prepared from acetanilide in the

laboratory ? 3
b) Give a general test for a carbohydrate. 2

38. Describe an experiment to show that acid hydrolysis of methyl

acetate is a first order reaction. 5

39. For the estimation of potassium permanganate using standard

ferrous ammonium sulphate solution —

i) write chemical equation for the reaction involved.

ii)  give the equivalent mass of potassium permanganate.
iii) name the indicator used.

iv) what is the colour change at the end point ? 2+1+1+1
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